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Chart, with contraction 

and negative Pattern 3 - Yes, no / to do Pattern 3 examples

Yes, no He does. He does not. > He doesn't. Does he play football? Yes, he does. / No, he does not.

X = Subject She does. She does not. > She doesn't. Does she smoke? Yes, she does. / No, she does not.

Ꙙ = Verb to do I do. I do not. > I don't. Do you cook breakfast? Yes, I do. / No I don't.

0 = verb You do. You do not. > You don't. Do I cook dinner? Yes I do. / No, I don't.

Ꙙ X 0?   +, X Ꙙ / -, X Ꙙ not We do. We do not. > We don't. Do we study at the library? Yes, we do. / No, we don't.

They do. They  do not. > They don't. Do they eat lunch? Yes they do. / No, they don't.

Chart, with contraction 

and negative

Pattern 4 - Regular verb, 
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Present tense of verb Pattern 4 examples  - Habit, periodic

X = Subject

Ꙙ = Verb to do When do you play football? I play every Saturday

0 = verb Where do you play football? I play football at the park.

________ = Question Word, 

Answer Where does he smoke? She smokes in the car.

____ Ꙙ X 0?     X 0 _____ How does she travel? She travels by bus.
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